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Unit six: 6-5 Projectile Motion (Distance Learning)

Equations of projectile motion vertically Lol ) i g38al) 4S ja eV alaa

K=y M="98m/s’ . y0)=y, . »¥(0)=v,

3y 48 jal)
W) =y"(t)=-321t/ VO)=y, , Y(0)=v, s
1
Dimension

.00

Equations of projectile motion horizontally l,,@ﬁ\ d gAial) i A G Al

x"(1)=0 xX(y=x, . X(O)=y

VI()=-98m/s*| -9.84ua ¥ 4nial £ Lud b hgiudl £ L

ke A sl sS Ladie Giday pLE |, Jdo y(£) =0

y1)=0 e Chpliall avad) pLES  raay Ladis saad afabua¥) (ia )

A N AGE 8 pa Juay fie awnlh Lgalal il A 8001 ABlcall ga VY CdpNEAl oda

?L'ih».aﬁﬂ
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Unit six: 6-5 Projectile Motion (Distance Learning)

Sl0) = 2 Az gBadly off) = —9 8¢+ 10 giedl de ) culS 1) &I 4By 33
Determine the position function if the velocity is o{t) =-9.8/+10

a.nd the initial position is s(0) = 2.

HI:“_II = {] I_?'_”I_L:Tl. Ej-}ds :'[f_’] = i} E.._.:.l.J.:._-l EWE i_‘_j__u r,.l [ ’IT' 1]|:|’:| = E-JI axl) |_J|.5 |_"Ii| allial E_j}a 3io
Determine the position function if the acceleration is a{t) = 6 with initial velocity 2(0) = 10

and initial position s(0) = 0.
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Unit six: 6-5 Projectile Motion (Distance Learning)

llgn T:ugu‘ 393y pae al28l) alalaa¥l die galsall dgecd! de ) vl oS (L LeY ales) )
If a diving board is 4.5 meters above the surface of the water and a diver starts with initial velocity 2.4 m/s
(in the upward direction), what is the diver’s velocity atimpact (assuming no air resistance)?

i Talala sl n..l:;_-;._J
A diver drops from 30 ft above the water (about the height of an Olympic platform dive). What is the diver’s velocity

at impact?
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Unit six: 6-5 Projectile Motion (Distance Learning)

wlegl) deslis Jalszs 19.6 M/S dslazy) dgaci de s oY) oo paatais JS8 e 5,5 cais o
A ball is propelled straight upward from the ground with initial velocity 19.6 m/s. Ignoring air resistance,

find an equation for the height of the ball at any time . £ 0 (o) e 3,50 gl ;¥ &sbeg oo
determine the maximum height gl M edaall apmll 53
the amount of time the ball spends in the air. gyl u-” 8,80 atala® il Gzl Slana
0507740983: J<al sil You
(o) adi g gl o JBLIAIL &) Al | &y Balall dagal) Jail 9,0l 9 cldlad) ) £ g2l
Easy Math/Tea. Bayan Arabli: https://t.me/BayanEasyMath12A



https://t.me/BayanEasyMath12A

e Olurdalall dalra 2020/2021 GG ol o) Juadl) pdiial) jdie G
(3 oo alaill) il gdial) AS 2 5.6 1 Abualizas gl
Unit six: 6-5 Projectile Motion (Distance Learning)

Jalos oo ¥ pla 393 3000M glis ;) e oz ope danus dagd) ol a3 Gl ga,s e
qL’r:I-J:SLI LJ.JLL:L_J_JI‘ s J.-l'a-.q-“ &J.Jn:‘.’l _Lng.._d..m i..:’._,....u ,J,..t Ln -:lg_d._“ -;l...ngl..ﬁ.a
Suppose a raindrop falls from a cloud 3000 feet above the ground. Ignoring air
resistance, how fast would the raindrop be falling when it hits the ground?

e L 323 Al 350N dgail] de puudl g 1.35m o 5l wadd Uiy el ol G Juad gLyl el plss 13
(oh 3! Laglin Jalod) pLisy W) 1aa S fuad
If the maximum height the=at the feet of basketball player can reach is 1.35m. Find the initial velocity
with which the player jumped to reach the highest height
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Unit six: 6-5 Projectile Motion (Distance Learning)

Ly sin #

y, cos #

Path of projectile

..LJU_.;..‘LL.J' JL.LLJ:I

ds ypull A88Y) A yalf

x'(0)=v, cos®

A ol A 1) A8 4l

¥(0)=v, sin?

23 g Aylud) e alaall ABLYL

._t-'“ B 98 I'1'I,.-'"H i.__ﬁL_.'._:'al Al _'.._.JI- H = JT:'IL -=5r_l',,l_'h I..:..ﬂi [ é.!-l._b! fo

An object is launched at angie # = /6 from the horizontal with initial speed g = 98 m/s.

Determine the Hme of flight

the (horizontal) range of the projeciile.

Allan¥l e ads

[u“gi,"'l} CBgdmal '.:F._L.q
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Unit six: 6-5 Projectile Motion (Distance Learning)

.UE:E:E} '._5..'1..;_]‘3 L_ﬂ.:_lJufJ} o] . _‘-}H n'l_.";f"r ﬁ__,&,l,_\_;:’! :LIL_,..-.U = é:ﬂiyl Lt JL}JIJ f :JTII'IE vl.-‘.;l_g‘__'-,._: Ls NE I}l_la;i

An object is launched at angle # = & /3 radians from the hor izontal with an initial SPEEE of 98 m/s.

Determine the time of flight and the horizontal range.
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Unit six: 6-5 Projectile Motion (Distance Learning)

130 ft/s aslaz) & po 61t glisy) oy Ladl 5,50 o 5,5 oo jlin @liad
et o u‘l"' A || daelzll u}! Jeas Loane 53,511 Elﬂj R

A baseball pitcher releases the ball horizontally from a height of 60 ft with an initial speed of 130 ft/s.

e 130 ft/s
(i
- 6 ft

Find the height of the ball when it reaches home plate 60 ft away.

‘t - WY
="
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Unit six: 6-5 Projectile Motion (Distance Learning)

aad¥) 35,0 o 7% dglpeg VKOV 2otan) de o laal 3 plis,) oo s cosa L) 45,3 Lo
plol ya ¥l plai g 18 m aslus sads 0.91M el 258 Lo 5,80 e 15] "asdl J513" 2o ge dpial) oaSs
A8m aed e sl as

Suppose that hits a serve from a height of 10 feet at an initial speed of 120 mph and at an angle of 7° below the

horizontal. The serve is “in” if the ball clears a 3"-high net that is 39’ away and hits the ground in front of the :

7
10 ﬁ]j‘_’
It

service line 60’ away.

3 ft

39 ft |

e
60 ft
Sy /

[ oy 8l & Tuaal 3,0l Uslas s gl

I ey ! & LEeYl iss ol Uslas dagl

il Gl Jae g oa) g
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Unit six: 6-5 Projectile Motion (Distance Learning)

A=Al @58 0 sl et Jae Al J) 5 sl Jae g die (oW e 5 sl pLAT)) asgl

iyl Gudaill e da gl

X' ==25sin(dot +8,) aslan¥) aeal Alis gass dsls a5 L asgs 5,5 andid isld
) J adslae & = w=1 s X(0)=2(0)=0
Consider a knuckleball with lateral motion satisfving the initial value problem "{fj= _35 sin(dewt + 6,),

0 =x(0) = 0. With @ = 1, find an equation for x({t}
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